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Unit 1: * . ) ]
a\ Lesson 05  Putting it all together with fractions

When adding or subtracting fractions, find a common denominator.

Example 1: Simplif 3(2—5)
xample 1: Simplify 2 3
3X 3 _ X y\_ /9% _ 2/
5% 3 3 4)—3 z:.”ff)"ﬁ( /.2.)
_ 15x _[=zx

When multiplying fractions, multiply numerators to produce the new
numerator. Multiply denominators to produce the new denominator.

a C ac

_ —ax L2049 _[=%x , 2y
N= =5 +557 =[75 +

When dividing by a fraction, multiply the numerator by the reciprocal
of that fraction.

Example 3: Simplify %
204 y Ao ayf ad g
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*Example 4: Combine like terms in 4[ (3/4)x + (2/5)x — 2] and evaluate at x = 3.
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See Calculator Appendix B (and an associated video) for how to handle

the grouping of numerators and denominators on a graphing calculator.
Common pitfalls are discussed.
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Assignment:

) ) 7 2 ) 23 2
1. Simplify §+§ 2. Slmpllfy;z—g
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6. Combine like terms in 5[ (3/4)y + (5/3)y — 1] and evaluate at y = -3.

e e e

Z 3
B 5[ 4 +ioy -u_} :5.?\_;?2_]
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— [y =60 _ prly) =60 s
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7. Simplify (119 (7/3)q )/(:8)
H’CL _ ’7% 5{ c?J
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At /2

3x 1 2X
8. Simplify — — = 4+ — and evaluate when x = -1.
7 5 3
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*9. Simplify (2/3){-[1/5-1/2]1+2|1/3+2]|}
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*10. Combine like terms in— — — + 1 and then evaluate at x = 2.
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